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55 M=133gmof' sogasisXe 73 52% NH, by mass; assuming no side reactions
occur and gases behave as ideal gases

56 0.4 gmott

74 3.20x 105kg

57 Helum

75 0.225 mol dm (or round to 0.23 mol dm)

58 311dm?

76 [NaCOJ= in mol dm-

YQ-P)
60 At higher altitude the external pressureis less. [NaHCO = % mol dm-?

As the air in the tyre expands on heating (due
to friction with the road surface), the internal
pressure increases.

59  empirical formula and molecular formula = SO,

77 100 mol O, 3.2 kg

(a) Particles are in constant random motion and
collide with each other and with the walls of
the container in perfectly elastic colisions.
The kinetic energy of the particles increases
with temperature. There are no inter-particle
forces and the volume of the particles is
nedligible relative to the volume of the qas.

1 In cold dimates, temperature may approach
or go below the boiing point of butane so the
butane stays fiquid even when itis released
from the pressure it is under when stored in its.





image2.png
Archivo_Edicien_Ver Ventana_Ayuda

I EEREE

B Ble 3|

Herramientas

Comentario

Rellenar y firmar

empirical formula CH; molecular formula C,H,

empiical formuia H,PO,; molecular formula H,f

oH NP0, for both empirical and molecular
formulas

CHO

Lety = mass of chalk in grams.
moles of chak used = Mass used
M|[CaCOy
v
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Answer

b5 M =133 gmot" so gas is Xe

a4
a5

107 g of GH, needed

(@ 2.40 mol
(©) 44mol

(b) 0.0110mol

() 85.65 dm? (b) 5.7 dm?
0652 dm?

0.138 mol Br, and 0.156 mol Cl,, so more
molecules of Cl,

0.113 dm?
0.28 dm?
90kPa
16°C
3.0dm®
2.8dm®

73 52% NH, by mass; assuming no side reactions
o

ur and gases behave as ideal gase:





